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ECONOMICS
( Honours Core )
Paper : ECO-HC-6026
( Development Economics—II )
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese
1. Answer the following questions : 1x10=10
o ePPTRY e fw ;. - '

(a) Define sustainable development.
TR SR e fig |

(b) Define fertility rate.
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(2)

Give one example of non-renewable
resource.

H-FAFIN MR 9Bl Sreger famm |

What is migration?
e A R 2

Mention one key challenge of collective
decision-making in organizations.

WPTERS Re PR @R @B I0
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Write one cause of gender inequality
in a family.

951 R oo fiesr-caawR o1 IR for 1

What is the primary goal of micro-
finance institutions?

TS b e o R

What is meant by land acquisition?

T wRerze e 2

" (Continued )

(3)

() In which year was the Rio -Summit
held? . L :

R e W e (fRw 2 - .

() Provide _an ,example . of society
experiencing multiple social equilibria.

qTfie ANRE SR mﬁm @A 9
SR Sarad
2. Answer the following questions : - - 2x5=10
oY P Tel fAm

(a) Write two advantages of shar’e&o'p'ping.

oSSR 1 R Fra 1
(b) What is gender bias?
foreer ormonfey 2

() Mention any two problems associated
with land.

T e gE R e o wem TeEd
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(4)

(d) What is the role of transparency and
‘accountability in good governance?

TIPS FoLol I TRRESN PR 2

(e) What is envxronmental externahty?

vfﬁwmﬁwﬁw

3. Answer any four of the following questions :

5x4=20
o PR R e SRt T fa :

(a) Discuss how income affects fertility
, decxslons

mmﬁwmﬂmcwm’iﬁm
HICAT 4 |

(b) Briefly discuss the functioning of labour
market in agrarian society. -

.mewm@ﬁ"tw

(c) Explain the main objectxves -of land
reform.

R STEAR [0 SR T 0
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(5)

(d) Briefly discuss -the difference bétween
community  governance 'and ‘corporate
-governance. :

mwwﬁmwwm@wﬁ
ST 41 1

,(e)\ Explain the relauonshlp between
‘ economic activity and chmate change.

wWmeWww
R SN N,

() Discuss the causes of financial
- instability. in a globalized world.:
AL L

4. Answer any four of the following questions :
. . : : . 10x4=40
oo PR R e v e ;.

(@ What is a common-pool resource?
Discuss how the “ragedy of the

commons expla.ms resource depletion.
" 24+8=10
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‘Critically discuss -the demographic
- transition theory of population. - 10

GPRYR GPRYES TS OGO’ A
2P AT |-

Discuss the main ixifdrfn&tional
problems in rural credit markets.

‘How do they 4aﬁ'ect borrowers and

lenders? - 6+4=10
ARG 4T TERS SYR T TErhE R OR,
A F6 1 R T CIRETE HF MO
TR JeIRS FI ?

Explain the inter-linkages between rural
factor markets in developing countries. 10
T ST A Bemm @R WS
SRS T <9 |

Explain’ the main contributions of -
agriculture in the process of economxc
development. 10

AT Tr. aﬁﬂn— IR [ [EER
I

Explain the féétors | tiiat“ ’i’nﬂuence
individual behaviour in an organization. 10
9Bl TRES IS AT eIk T4 zﬁw
T 10|

( Continued )

(g)
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(7)

Explain the functioning of the credit
market in rural economy. 10

A SRS Y THRY I I A
Discuss the key objectives of

multilateral trade agreements. How do
they impact global trade? 6+4=10
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